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7. (a) Find an equation Tor the Tamily of linear Tunctions with
slope 2 and skeich several members of the family,
(b)y Find an equation for the family of linear functions such
that f{2) = 1 and sketch several members of the family.
(o) Which function belongs o both families?!
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are shown,

10. Find expressions for the quadratic functions whose graphs @ ‘C(K\ - a ()(—- L'\’L + K =
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12. Recent studies indicate that the average surface tempera-
ture of the earth has been rising steadilv. Some scientists
have modeled the temperatare by the linear function
=002 + 850, where T is temperaire in °C and ¢
represenls years since 1900,

i) Whal do the slope and T-intercept represent?
by Use the equation to predict the average global surface
temperature in 2100,
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15. The relationship between the Fahrenheit (F) and Celsius w . / Q/ ey o /
. “ bqo
02{ < 73) 4

(C) tempersture scales is given by the linear function

F=%C+ 32 Lo
() Sketch a graph of this function,
(b) What is the slope of the graph and whal does it repre- F ¢
sent? What is the F-intercept and what does it represent? £
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. Biologists have noticed that the chirping rate of crickets of
a certain specics is related to temperature, and the relation-
ship appears to be very nearly linear. A cricket produces
113 chirps per minute at 70°F and 172 chirps per minute
at B07F.

(a) Find a linear equation that models the emperamre T as
4 function of the number of chirps per minuie N,

() What is the slope of the graph? Whar does it represent?

() If the crickets are chirping at 130 chirps per minute,
estimate the temperature.
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18. The manager of a furniture factory finds that it costs 52200 a ('Uowr\’ QOs‘J’ = C as a p‘w\. C L‘cﬁu
to manufacture 1010 chairs in one day and $4800 to produce ’

300 chairs in one day. @? % i O'C\ CL&[AS/ X/ .71/(/\67[ arp

{a) Express the costas a tunction of the number of chairs

produced, assuming that it is lincar, Then sketch the ) , ﬁé\
graph. a}\ocilblc_f’d , [C IE e

{h) What is the slope of the graph and what does it represent?

(¢} What is the y-intercept of the graph and what does it ( ) _
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19. At the surface of the ocean, the water pressure is the same
as the air pressure above the water, 15 1b/in’. Below the sur-
face, the waler pressure increases by 4.34 1h/in’ for every
10 ft of descent.

(1) Express the water pressure as a function of the depth
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21-22 For each scaiter plot, decide what type of function you
might choose as a model Tor the data. Explain vour choices.,
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23, The table shows (lifetime) peptic ulcer rmiles (per 100 popula-
tion) for various family incomes as reported by the Mational
Health Interview Survey.

Ulcer Rate (per 100 pop)

Ulcer rate 16
Tncome {per 10 population ) “
14 ' »
$4.000 14.1 R
S6,000 13.0 12 L L
58, 00 13.4 v 10 e
512,000 12.5 - Uk
8 - o | . er Rate (per 10
S16,000 12.0 5 v oo B pop)
zf::':::: :3; Linear (Ulcer Rate
4
3 . 100 pop))
: Plot A
S0, K2 )
(20 Make a scarter plot of these data and decide whether a S-  520,000.00540,000.00660,000.00680,000.00
linear modde] is appropriafe. Axis Title

ih

dlata points,
(¢} Find and graph the least squares regnession line. @ \/

(d) Use the linear model in part (c) to estimate the uleer

Find and graph a linear model using the frst and last

rate for an income of 525 0040 (4 14 ) (60 a0
(e} According o the model, how likely is someone with an / 7 /7

income of SR 1o suffer from tic ulcers? - - Odg #
. I 580.00 5 - PP L. L.~| K= S e | !
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